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If n is a natural number, then (6n”*2 +6n) is always divisible

gid n Th UThiddh I
g ;

E3 %, al (6n"2 + 6n) Efl'-‘?ﬂ fauTSg

(1) 6 only

n
(3) 12 only
(4) By 18 only




(1) 7/17
(2)133/34) ||
(3)18/19
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4 The least number by which 1470 must be divided to get a
number which is a perfect square, is :

Iqd Sidl S&m &RT 1470 1 fauforg fee
M R T Quf aif senyue gt €, A e '

|

l

(15 |
(2) 6
(3) 15 '




A cricketer whose bowling average is 12.4 runs per wicket takes 5
wickets for 26 runs and there by deceases his average by 0.4. The
number of wickets taken by him till the last match was:

U fopdbe? T Taarell of¥d 12.4 T Ufd fAdbe §, 26 T
TR 5 AP ad1 g SR SUST 3Nd 0.4 QA HH g SIdT 2|
MR A 9 I gRT forw e fAdel &t J=r At:

(1) 64
(2) 72
(3) 80




6 The numerator and denominator of a fraction are in the ratio of
2 : 3. If 6 is subtracted from the numerator, the result is a fraction
that has a value 2/3 of the original fraction. The numerator of the
original fraction is :

freft g o1 i 3R 8X 2 3 & SUIaT H 81 Tfe 6 BT 3i=T
¥ YT STd] 8, df oy ue o i giar 8 ot qa i
&1 2/3 giaT o | Yo Fis &7 31 Fra (1) 6

(3) 27
(4) 36







- T——
- I T

L —
—_— e —— e —

In an election, 30% of the voters voted for candidate A whereas 60% of the
remaining voted for candidate B. The remaining voters did not vote. If the
l difference between those who voted for candidate A and those who did not
r vote was 1200, how many individuals were eligible for casting vote in that
election?

’ ?naﬁ ' 30% HdSIATSI 3 Iuflear A ¥ v HaeM
W 60%

SHicar B & ferw g A aﬁ%aﬁzqﬁ
fear afe Sefigar A St dic awﬁaﬁvaﬁzqéﬁw?r%iﬂaﬂ
3R 1200 YT, oY 39 G149 H fbaa aafag aie sre & A A

Jl (1) 10000
t (2) 45000
| (3) 60000
R | 4) 72000
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| 0 A shopkeeper sells 25 articles at Rs. 45 per article after given
10% discount and earns 50% profit. If the discount is not given,
1

the profit gained is :

TP TPTGR 10% Je &1 & a1 Ui I 45 SUd Bl X A
g 2 aam%aﬁgg%mum%wqﬁﬁ
I | Gn:i’rg,a‘rmum A B ?

(1) 50%

oo e ]
(3) 66%

(4) 66 (2/3)%




85 kg of a mixture contains milk and water in the ratio 27 : 7. How
much more water is to added to get a new mixture containing milk
and water in the ratio 3 : 1?

ssﬁﬁﬁ%?rmggmuﬁﬁ? 27: 7 B %: 1%3
3T H g 0T B UTGT
mmaﬁ%wmmqglmm%t{v

" (1[5kg ]
Al
|

|
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(2) 6.5 kg
(3) 7.25 kg
(4) 8 kg
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Two- third of stock was sold at a profit of 5% and the remainder

at a loss of 2% if the total profit was Rs. 400. then the value of
the stock was

P BT GBS o 5% & Ay R SR AT 2% & JHaH |
TR 91 T YT | Al Cich &l HiFd 1 &f i el A1 3. 400 "

ol |

(A)1500 |||
(B) 5000 WI
(C) 4000 |}
(D) 6000
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1 1 A cube of edges 20 cm is completely immersed in a rectangular

vessel containing water. If the dimensions of the base of the vessel §
f 1 4re 20 em by 40 cm, the rise in water level will be

20 HT {h-TRT a1l Teh U4 U § WY Uh SAATPR a4 H - |
]
l.‘
|

qg"raw@'?ﬁ;m g3 g1 TG I o YR BT TATH 20 T x
40 AT 8, 1 oft &R H gfg grft

(A) 2 cm

(By6cm |1
(C) 8 cm I
(D) 10 cm ’ \




. ———— =

— _—

A man on the top of a vertical observation tower observes a car moving at a
uniform speed com ing directly towards it. If it takes 12 minutes for the anglél

of depression to change from 30° to 45°, how soon after this will the car reach
the observation tower7

& d»‘a:f‘ae NCRICE cha & MY TR Teh Afdd Teh HR Dl ThTHM

@r%ﬂ?) 3D 3R 3T §U Wl g1 i 3{ATHT DI Bl 30° F 45° dD |

Saai H 12 e &7 JHY T &, dl 39 fobd §HY §1G BR 3faeiich |
ClaR d% Ugd G”Q]“ (A) 14 min. 35 sec.

(B) 15 min. 49 sec.
(C) 16 min. 23 sec.
(D) 18 min. 5 sec.
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| The simple interest accrued on a certain principal in 5 years at the rate of

| WA p.c.p.a is Rs.1536. What amount of simple interest would one get if one
invests Rs.1000 more than the previous principal for 2 years and at the
same rate p.c.p.a’ |

U AT HAYq IR 5 99 & 12 Uia=rd Ufd au &1 a3 I 3ffoid qreRor ||
TS 1536 ¥04 5| i Pis oAfad 2 98 & ol TUsd Fae= ¥ 1000 |l‘
5 G |

ST AP FaR BT & 3R THA X p.c.p.a TR FA Hd1 g dl S
foat TTRT BT ATYTRUT TS THer

(A) Rs. 614.40 |}
(B) Rs. 845.40 ",'

(C) Rs. 854.40
(D) Rs. 1536
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If a number N is divided by 132 then we get 10 as remainder. If
1 N3 is divided by 12, what will be the remainder?

3 gfe ue TBI N &I 132 ¥ RAunfora frar srar g @Y 8| 10
|f Y firerd 71 afe N 91 12 | fyurfora fear srar 8, &

(a) 4

(b) none
(c) 10
(d) 8
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1 Find the unit digit of the number 532375+ 8193532 +87777 ‘
+ 9853% -11218,
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| 1 A right angled triangle with sides of 6 cm, 8 cm and
10cm. Find the ratio of in-radius and circum radius

\ 5 respecti
|

ly.
6 I, aﬁaﬁ'\rm@tﬁ%u&ﬁ%muwm
Pryer| aar: ar: Fsar SR ulkfasan & srgura &1
qdT e | (a)4:5

(b)2:5
(c)5:2
(d)1:2
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1 1 By selling 33m. Cloth, a shopkeeper loses money
equivalent to selling price of 11 m. Find his loss
percentage!

|f 33 HY, PUST dTPY, Uh GPMSR 11 Hiex DI fasnt

|
) & RIS U TH Y Io1d1 8 | SHPT TP
. %ﬁmﬂﬂﬁﬂﬁ? (@) 25%

1 (b) 11%
' (c) 33%
? % (d) 20%




l 1 A dishonest fruit seller sells fruits at 5% loss. If he uses 850
gm weight in place of 1 kg weight, then what is his profit
' f 7 percent?
| UP ISHE Bd fAshdl 5% SN R B dadi g1 afe 98
- 1 T3l I9 & RIT W 850 I I BT FYGITHERIT
17 7°

1 B, 9 SHST ary ufaxid |/ B

ﬁ

(b) 11 %
(c) 11.5%
| (d) 12.%
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A cricketer gives 18.4 runs per wicket. He gives 60 runs and takes 5 wicket in a
match after which his average becomes 18 per wicket. How many wickets had been

taken till the last match? ,

fpper ufd fadbe 184 T AT B AT H 60 T T & 3R 5 fAde
g%éﬁ;%agﬁsaﬁwalsuﬁwam%ﬁw&a;mﬁ
fade ferg e O

(a) 75
(b) 80
(c) 85
(d) NOT




—

il 1 If/‘T% a=5>b=-6,c=10 then the value of/qﬁmaﬁ'
(a3+b3+c3)—-3abc
r O (ab+bct+ca- az—bz—cz)
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At the centers of two c1rc1es, two arcs of equal length subtend ‘
angles of 60° and 75° respectively, the ratio of the radii of the

two circles 1s :

& HEI IR, T & < 1Y HH: 60° 3R ,
750 P TTAE, ﬁﬁa%gmﬂsmﬁgo 'l‘

(a)5: 2

i
|

(b) 5:
4







